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Section A: (30 x 2marks = 60marks)

For each question from 1 to 30, four options are given. One of them is the correct
answer. Make your choice (1, 2, 3 or 4). Shade the correct oval {1.2,3 or4) on
the Optical Annswer Sheet.

1. Amy conducted an experiment as shown below. She fastened a piece of
black paper on a leaf of a plant with a paper clip.

paper clip

leaf
black paper

The plant was then placed under the Sun for a day. Amy then removed
the paper and tested the leaf for the presence of starch using iodine
solution. .

Which of the following diagrams shows what Amy would see when the
icdine solution was added to the leaf? :

N )

dark blue

)

: dark blue -




Study the concept map below carefully.

is a form of energy

allows us to see the is needed by plants for
things around us - an important life process

What will happen to a plant if A is missing?

(1} itcannot carry cut photosynthesis,

(2) Itcannot take in water from the soil.

(3) Itcannot undergo pollination and fertilisation.

(4) It cannot exchange gases with the surroundings.

6 children were playing a game of tug of war. They were dlivided into
Team A and Team B as shown In the diagram below.

Force P Force Q

i ) :
Team A ‘ Team B

Based on the diagram above; which one of the following obsewauons and _ o
corresponding conclusions is. lncorrect? R

Observations | - Conclusions -
(1} i Team A moved forward .| Force P is smalter than Fome Q
(2) | Team A moved backwards | Force P Is greaterthan Force Q |-
(3) -{ Team B moved forward - .| Force P.is:smaller than Forée Q|- v o venlis s
(4) | Both teams rémained stattonary ‘Force P Is equalto Force Q= -




Study the concept map below carefully.

a living thing

is

can be

algae fungus bacteria fish eagle

Based on the concept map above, what can X be?

(1)  Habitat

(2) Organism
(3) Population
(4) Community

Four pupils were asked to give one example of an organism that lives in
each of the three habitats given in the table below.

-Pupil . ._-Leaf lifter Pond _ Garden
Ben woodlouse . -water snail grass
Carl . . millipede . clam . ant .
‘Dan | . centipede duckweed mimosa
. Eric | - termite - - frog ' -earﬂlworm ‘

. "Out-of the four pupils, which of them has/have given correct exampies of‘ :
'_ ‘ organisms for all the three habitats? . .

(1}  Benonly .

(2) Cardand Dan only
(8) - Car and Eric only. - -
(4) . Ben, Dan and Eric only )




6. Fanny conducted an experiment to find out how the amount of sunlight
falling on ah area affects the temperature of the area. She picked four
locations in a park that were exposed to different amount of sunlight. The
locations were:

Beside a bush

Under a big, shady tree
Inside a covered dustbin
in the middle of a big field

She then measured the temperature of these locations on a sunny day
and on a cloudy day. She took the temperature at noon on each day and
recorded the findings in the table shown below.

' ' . Temparature taken
Locations Sunny day Cloudy day
W 32°C 29°C
X 268°C - 26°C
Y 3°C 28°C
Z 28°C 27°C

Which of the above locations is most likely to be under a big, shady tree?

)
(2)
(3)
“)

‘NKXE




7. Study the graph below carefully. It shows the nurnber of earthworms found
in different types of soil collected from different places.

Numberof 4

earthworms

Garden Sandy Peat Clayey fi'ypes of
soil soil soil soll soil

From the graph above, which of the foliowing soils Is the most suitable for
rearing earthworms?

(1) Peat soil
(2) Sandy soil
{3) Clayey soil
{4) Garden soil

8. The diagram below shows how energy from the Sun is transfesred from
ohe organism to another in an eco-system

Based on the dlagram above which of the folawing matches the roles the
. different organlsms p!ay in ihe food cham correctly? |

Y | Predator Pre‘y and Pmdétoi'

“Pre

M S T "a. |~ . Rawp._
o e ———SaP,

P Y e PR




10.

Gina fifled four cups with equal amount of water at 30°C. Each cup Is of
the same shape and size but is made of different materials. She then left
the four cups at the same place and took down the time faken for the

~ water In the cup to reach the room temperature.

Material the cup Is made of Time taken for water to reach
room temperature (min)

15

30

65

wiledlerp g

110

Based on the results shown above, which material is the best conductor of
heat?

Mm A
2y B
3 C
4y D

Which of the following isfare matter?

A Air
B Heat
C Shadow : -

D Water vapour
(1) Aonly

@ AandDonly.

(3) BandConly

. {4) B,GandD only’




1. Henry placed a pot of plant in a covered glass box and left it in his garden
for one day. He recorded the level of the different gases in the container
and plotied the readings in three graphs as. shown below.

_Level of A
- Gas X

:
1
6a.m. 12 p.m, 6 p.m. 12a.m. 6am. Time
Level of A
Gas Y !
'
:
1
]
1
. ]
]
1
6am.  12pm.  6pm.  12am._ Gam _ me
Level of A _ .
GaszZ , - » . oot
. . ]
1
]
1
1
1
]
L
]
A
N 6__;1.!1.1._; - 12pm. 6pm. 12am, 6-,3-_'-'".-‘,‘.- e.




energy f ' energy

His friends saw his graphs and made some comments.

Irene Gas X should be oxygen as the rate of photosynthesis is
highest at 12 p.m.

Jerry Gas Y should be oxygen as the rate of photosynthesis s
lowest at 12 p.m.

Kelly Gas X should ba carbon dioxide as the rate of
photosynthesis is highest at 12 p.m.

Lamy GasZshou!dberutmgenasnm'ogemsnotreqwmdlnthe

. process of photosynthesis.

Out of the four comments, which one isfare correct?

{1) lreneonly

{2) lrene and Latry only

(3) Jernry and Kelly only

{(4) Jeny, Kelly and Lairy only

12. Which one of the following graphs correctly shows the relationship
between the mass of an object and the amount of kinetic energy the object
has?

M A N
Amount of SR Amount of}
kinetic kinetic
energy : energy
Mass of S M'asg of
) obiect - ) 7:.7’ . -m
(3) . N @
Amount of Amountof| - -
kinetic kinefic

Massof = - Massof R



13.  The diagram below shows what happens in pole vaulting, a competitive
sport,

et

Based on the diagram above, which of the following statements isfare true?

The man has kinetic energy at Point X.

At Point Y, most of the man’s kinetic energy has been converted to
elastic potential energy of the pole.

The man has no kinetic energy at Point Y.

The man has the greatest amount of gravitational potential energy
at Point Z,

OO w>»

(1) B only

(2} AandConly
{3) = CandDonly

(4) A, B and D only




14.

t)

@

®

N )

Minah conducied an experiment to find out how the mass of an object
affects the amount of force needed to move it up a ramp as shown in the

diagram below.

spring balance

object

object

In order to conduct a fair test, which of the following tables correctly shows
the independent, dependent and controlled variables of this experiment?

Varlables Independent [ Dependent | Controlled
the force used -~ N
the mass of the object v
the spring balance used v
the steepness of the slope v
the type of surface of the ramp N
Variables Independent | Dependent | Controlled
the force used v
the mass of the object o
the spring balance used N
the steepness of the slope - v
the type of surface of the ramp ~
Variables independent | Dependent | Controlled
|theforceused - - _ BE : . BE -
the mass of the object . v
the spring balance used B ~
. | the steepness of theslope- . . f - - ~
‘the type of surface of theramp . |. -~ . -
, ~Variables T independent | Dependent } Controlled
theforceused . - 1 ] A ' -
_[the massoftheobject . N ‘ B
... | the springbalancerused . L pn o Tl T A
" the steepness of the slope -~ - j

. {the type of surface of the ramp |




15.

£2)

Ned prepared the set-up below.

Stretched
elastic band direction in which
- the marble will
\ travel once it is
marble ~——— ™ _ released 27T
7 ) e
nail distance measured

He wanted to find out how the distance travelled by the marble is affected
by how much the elastic band is stretched.

He recorded the results in the table below.

A
2 B
3 C
@D

Length of the Distance measured (cm)
stretched olastic 1= 2 1 3™ | 4P Average
band {cm) Try Try | Try | Try
10 8 9 | 7 9 825 (A
15 16 26 15 14 | 17.75 (B)
20 o 25 | 27 | 24 27 | 2575 (C)
25 37 34 36 37 | 36 (D)

. After his experiment, he decided to plot a graph using the results. His

teacher looked over his findings and commented that he should rot use
one of the average readings as one of the readings was not consistent.

H

~ He needs to"remqﬁé the ibéonsigtent reading and recalculate the average.

‘Which one of the average readings, A, B, C or D should he recaiculate?




16.  Study the diagram befow carefully.

dragonily x

Water letiuce ¥ | catiail

duck weed

hydrilla

A disease wiped out 'the entire population of tilapia in this community.
What was the number of populations of organisms that was left over, if
there were no other changes to this pond community?

(1y 1
2 2
3 ¢
“@ 7

12



17.

Some pupils counted the number of some organisms in their school
garden and recorded their findings In the table shown below.

Type of organisms

Number of organisms found in
the garden

Grasshoppers 4
Grasshopper nymphs 3
Caterpillars 5
Butterfies 3
Plants found on plants 4
Plants found on ground 12

Based on the table above, which of the following statements are definitely

true?

A There is only one garden population.

B There are al least two populations of plants in their garden.
C The population size of grasshoppers in their garden is four.

D There are at least four poputations of animals in their garden.

(1) Bonly

(2) Conly

(3) BandD only
(4y A,CandDonly

13




18.

Some scientists were studying four different habitats, A, 8, C and D. The
table below shows the characteristics of four different habitats.

Characteristics
of habitat

HabHat

B

C

Amount of
light falling on
the area

Low

Medium

High

Low

Molsture lovel
of soil

High

| Very high

Low

High

Average
temporature of
the area

High

Medivm

| Very Low

Low

The sclentists found an organism, E, in one of the habitats above... -
Organism E has the following characteristics:

Organism E
It prefers dark It feeds on dead its body needs to
and cool areas. matter. stay moist.

Based on the information given above where would Organism E be most
Tikely found?

1 A
2) B
(3) ¢
4) D

14




19.  Study the diagram below carefully.

provides food forthe
bacteria when we take in
food

i

Good bacteria in human
the intestines

keeps our intestines healthy
by ensuring good digestion
of food

The diagram above shows a special type of relationship between two
diiferent organisms. Both organisms benefit from each other in this sost of
relationship. . ‘

Which one of the following relationships is most similar to the one shown
above?

(1) A whale eating planktons

(2) Birds living in holes in trees

(3) Weeds growing around a plant
(4)  Bees feeding on nectar of flowers

15




20. The graph below shows the population of a species of butlerfly in a habitat
over a period of fime.

-
-

Population
of butterfly

A

Time
What could have happened at Point B?

There was an increase in rainfall over a period of time.

A predator of caterpillars was Introduced into the habitat.

A disease infected the piants that the caterpillars were feeding on.
Another pollinator of the plant that the butterflies were feeding on
was wiped off by a disease,

Coao>

(1) Donly

(2) AandDonly
(3) BandC only
4 A ,BandConly

16




21.  Pat placed four different types of organisms, A, B, C and D nto two tanks
and monitored their populations over a period of two weeks. She placed
Organisms A, B and D into Tank 1 and Organisms A, C and D Iito Tank 2.

She counted and recorded the populations of the four organisms every
day and ploited two graphs as shown below.

N'u.mber of Number of
organisms A .“D_- organisms
N\
g
Tinﬁe | Tir‘!:e

Based on the graphs above, which of the following shows the correct food
chain linking the four organisms above?

(1) D>C9>A>B
(2 A>B3>D>C
(3 B>A3C->D
(4) C>D-3BSA

-17




22. There are five organisms, P, Q, R, S and T, In a particular community.
:!;ﬂ:;tobsewingﬂme ofganisms, Susan came up with a list of information
them

- P converts light energy from the Sun
into chemical potential energy.
Q is a herbivore and has 2 predators.
" R eats meat and plant.
S has 2 food sources
T feeds on R and has no predators.

Which of the fo!lqwing food webs matches the information given above?

N T

//// /]//

18




23. Tammy prepared a sst-up as shown below and. left the set-up in a room
for a week.

beaker
cooked meat

After a week, she noticed some maggots, which are the young of
houseflies, on the piece of cooked meat.

Her sister commented that the maggols came from the cooked meat.

Tammy then decided to prove that the maggots did not come from the
cooked meat.

Out of the four set-ups shown below, which one should Tammy use as a
control to prove her point? -

(1 N (2)
beaker beaker :
cooked .
meat raw fish
(3) “
beaker

19




24.  Study the bar graph below carefully. The graph shows the concentration of
carbon dioxide in 4 blood samples taken from different part of the body..

Concentrationg
of carbon
dioxide

W X Yy  z "~ Blood
samples

Out of the four samples, which one is most likely to be taken from the
blood vessel which carries blood from the heart to the lungs and which
one is most likely to be taken from the blood vessel which carries blood

from the fungs to the heart?
Sampiles of blood -
Fromhearttojungs |~ From lungs to heart
(1) X Y |
) g Zz e W

20

———



25.

Study the flow chart below carefully.

(2
(3.
@

Cells

A d

Does it have
cell wali?

No

Yes

A 4

Does it have
chioroplast?

~ Which of the following correctly represents the organisms A, B, G and D?

Yes

A

=

v

Does it have
nucleus?

A

C

D

B . _
root cell - leaf cell ‘cheek cell red blood cell
cheekcell | redbloodceli | leafcell | ° rootcell
leaf cell root cell red biood cell .| cheek cell
“red blood cell

cheek cell '

21

rootcell. -

“leafocell -




28. Alice had just done up her hair and wanted to check if the back of her
head is neat. She decided to make use of a small handheld mirror and a
farger mirror to do so as shown in the picture below. -

big

mirror

handheld
mirror

. Which of the foﬂowmg shows the path of light that allowed her to see the
back of her head?

(1) -Lamp > big mirror > head -> handheld mirror -> eyes
(2) = Big mirror > lamp > head -> eyes -> handheld mirror
(3) Lamp = head -> big mirror -> handheld mirror -> eyes
(4)  Eyes -> handheld mirror > big mimor > head - lamp




27.  Mr Lee placed two beakers on each side of a balance. In one beaker, he
poured in waler with a temperature of 90°C. In the other beaker, he
poured in ice cubes. Both beakers have the same mass at the beginning
of the experiment as shown in the diagram below.

water at 90°C —-4

Side X Side Y

beakers

!

Mr Lee placed the baiance in a room for 30 minutes.

What could be the likely observations he would make after 30 minutes?

A

B
C
D

™
2)

(3

@

Side X would become lighter as some of the water in the beaker
had evaporated.

Side X would become heavier as the water had more heat than the
Ice in another beaker, , ,

Side Y would become heavier as water vapour in the surrounding
air had condensed on the outer surface of the beaker.

Side Y would become heavier as the ice had gained heat and
melted. ' :

A only

Donly -~ .
AandConly =
BandDonly . -




28.

The diagrams befow show four different set-ups In an experiment.

A B

Annie wanted to find _out‘hm&_ the number of leaves on a plant will affect
the amount of watertaken in by the plant. .

Which set-ups should she use?

(1) . AandC
(2 AandD
(33 BandC
(4 CandD

[FE e



29. The graph below shows the rafe of digestion of food that takes place at
four different parts of the human digestive system.

I

Rate of 4
digestion

[ >
w X Y zZ Parts of the
digestive system

Based on the graph above, which of the following correclly matches the
letters, W, X, Y and Z to the correct part of the human digestive system?

W X Y Z
M stomach | large intestine - mouth - | small intestine
(2) gullet stomach large intestine | small intestine
(3) | large intestine gullet mouth . stomach
(4} mouth .. | smallintestine | ~ stomach | large intestine




30. Jason recently purchased four magnets. In order to find out which is the
sirongest magnet, he prepared the set-up shown below.

magnet

N LA YK AY & & A nall

From the results shown in the set-up, which one of the foliowing best
describes the strength of the magnets above?

Strongest Weakeost Not possible to tell
(1) [ D AB
(2) A C "B, D
{3) B A -C,D
(4) D B A, C

26
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Section B: (40marks)

Wirite your answers to question 31 to 44,

The number of marks available is shown in brackets { ] at the end of each
question or part question.

31. The graph below shows how the rate of photosynthesis is affected by the
' intensity of surrounding light.

Rate of A
photosynthesis

Y ' - Intensity of
light

(a) Based on the graph above, what is the refationship between the intensity
of light and the rate of photosynthesis? 2]

(b} ~ Kelvin wants the plants iri his garden to grow up fast and healthy. Other
than ensuring that the plants get enough light, name two other faclors that
he should take note of, ' [1]

.Score




32.  Aluge is a small one or ftwo person sled on which one sleds facing up and
feet first. In the Winter Olympics, luge Is a popular competitive sport. The
picture below shows a luge athlete on aluge going down a slope. :

Jim sled down two different stopes, X and Y, on a luge. Slopes X and Y
are of the same length. The graph below shows the kinetic energy he
possessed as time passes while he sled down the slope,

Arnount of A
kinetic
energy
© Time
. Which siopa is steeper? Explain your answer clearly. 2]

'”',Soo‘re"




33.

(a)

(b)

Ben set up an experiment as shown in the diagram below to find out which

of the two springs that can stretch more. The springs were of the same
length.

Spring A Spring B

50g weight 100g weight

Set-up A Set-up B

Mr Tan told him that his experiment was not fair. Why do you think Mr Tan
said so? . . (2]

- What cani he do to make ita fair experiment? - _ | i1

Score




34.

(@)

(b)

©

Study the food web below.
squid \
phytoplankton 5 kiill seal St kifler whale

herring tuna

Name the habitat where the organisms in the above food web can be
found. . {11

If an organism from the above habitat is transferred fo a pond habitat,
what will happen to t? Why? 1]

Name 2 conditions that are different between the pond habltat and the
habitat in (a) | | _ L [1}




35.

(a)

(b)

{c)

A sclentist made observations of a certain community and noted the
interdependence of 4 organisms, W, X, Y and Z living in the community:

A if population of W decreases, population of X wilt also decrease.
B if population of Z increases, population of W wili also gradually
- increase.
C If population of Y dies, all the other populations will eventually die
as well.

Based on the above observations, write down a possible food chain linking
all the organisms. ' 11

From the food chain you created, did organism X obtain ‘énergy directly or
indirectly from.the Sun? Explain your answer clearly ' 1]

Why must a food chain be kept at not more than 4 or 5 organisms? 1]




36. Three cubes of 200g each were suspended using three strings to a

support as shown in the picture below. Three nails are placed directly
underneath the three cubes at position X, Y and Z. The nails are placed

on top of some moist clay.
_ | }
200g
200g
~ |200g
T Y
' — moist clay
\. /
X Y Z

Each string s then cut, allowing the cube to drop onto the nail, driving it into the
moist clay, creating a depression. The table below shows the depression made
by thie nails once all the three cubes have landed on the nails,

(@ In the table below, filf in the blanks with positions X, Y and Z to match

them to the depression created. [1]
Position - Depth of depression (cm)
| | | 8
4 .




The picture below shows a pile driver, commonly used during construction of
buildings. The hammer is raised to a height above the pile before being released.
The hammer will then drop and land on the pile, driving it into the earth.

it is important for construction companies o complete their projects as fast as
possible so that it will be more cost-saving.

hammer

pile

rane

(b)  Explain clearly why it is necessary fo raise the hammer to a height before
releasing it. 2]

‘Score |




37.  Jaden conducted an experiment as shown below, He dropped two items
of the same size and thickness from the same height. The first item is a

piece of paper. The second item is a plece of net. Both items have the
same mass.

paper
N
dropped
from the
same
helght

ground

He recorded his findings in a table as shown below.

Items Time taken for item to drop to the ground
(Seconds)
Paper 7
Net = 3

~-He showed his teacher the table but his teacher comnmented that his

o findings are not reliable. .
(2)  Whatcan Jaden do _to'hnp'rbye on the rellability of his experiment? [1] .

Score




Jaden then teok a walk in his garden and spotied two flowers from

different trees dropping down. The flowers have the same mass, The
pictures of the flowers are as follows.

X

(b)  Predict which flower, A or B, would reach the ground first if they were
dropped from the same height. - [1}

(6}  Explain your prediction in (b). (1]




(@)

(b)

(©

Jane filled a beaker with some pebbles.

-50
beaker 40

-30

20
pebbles 10mi

She then poured 30mi of water Into the beaker.

In the diagram below, draw a line to show the estimated final volume of
water in the beaker. 1]
~ (

-50

40

30

® 20

T .10m]
Explain your answer ifi {a). 1]
-

_ Explain. clearly what change you will see in the water level if the pebbles

were replaced by the same amount of dlayey soil.  ~ = . . 1]

10




{a)

(b)-

conditions of bed bugs?

Mark set up an experiment to find out the prefemred living conditions of bed
bugs as shown below. The left chambers had increased amount of carbon

dioxide gas pumped in. The right chambers had increased amount of

oxygen gas pumped in. The set-up'was left in a bright room.

top-left top-right

middis
chamber .
/i\._‘ [ oxygen

The bed bugs were firstly placed in the middle chamber. After one hour,
the number of bed bugs found in each chamber was counted and
recorded in the table bslow. _ ' ‘

- Chamber Number of bed bugs
Top-left 2
Bottom-left 8
- . .Top-ight - 0 -
Bottom-right 0

Based on the results shown in the table,_ wha,f are the preferred. living
‘ ' {1]

Marks uncle told him that to prevent being bitten by bed bugs, hé could
install a fan In his room tfo clfculate the air. Explain how that idea could”
help fo reduce the chances of being bitten by bed bugs. - - .~ H]. o

11 Seore




40. The graph below shows the population of grasshoppers In a plot of land.

Number of '/
grasshoppers

,
<

X

b
”

Time

" it was noted that at some point in time, a developer started ‘construction of an
estate of houses on that plot of land.

(@) At which point, X, Y or Z on the graph do you think the development
started? _ 11

(l_:) ~ Clearly explain your answer in (a). S ‘ (2]

12 Score 3




41.

(@)

The diagram helow shows a food web.

B A E
)
A

\c——a}i

A disease caused the population of E to decrease sharply. How will the
population of B, C, D and F be affected immediately? Put in the labels, B,
C, D and F in the graph shown below. ‘ {2}

Number

animals

J (

Time

What is the reason for your choroe of answer for animal Fin (a)? Exp!aln
-your answer clearly , 1

13 Score




42.  Miss Jamie was walking from point A to point G passing a lamp post at D
as shown in the diagram below.

NN

lamp post

A B C D E F G

{a) What is the relationship between the distance between Miss Jamie and

the lamp post and the length of her shadow as Miss Jamie walks from
Point A to Point G? 2]

(b)  Based on the above result, sketch the graph in the space provided below.
‘ Label the axis In the boxes clearly. 12

i

’y

- ,Y-a:as:_

14

Score




43. Jeremy prepared the sef-up shown below.

thermometer
A [ beaker
——————ice
q i sy heater
Set-up P . Set-up Q-

He monitored the temperature of the ice In both set-ups for 10 minutes
and plotted the graph shown below.

Temperature
{°C)

ra

OHr v emansm m=-

0 B 1 " Time
: (min)
(@) Fillin the labels, P and Q, for the graphs in the box provided. | | {1}

{b). __Ba_sed-on the*diagraiiis_ and resuits above; what is the alm of the experiment?
‘ [}

15 Score 2




After all the ice in both set-ups had melied, Jeremy measured the volume of

water in both set-ups. He found out that one of the set-ups had lesser water
than the other.

(c)  Which set-up had lesser water and what do you think is the reason for it?
a 1]

16




44,

(@)

David prepared the following set-up for an investigation as shown below.

magnet

= =9 £

Magnet A Magnet B Magnet C

D is the maximum distance between the magnet and the thumbtack where
the magnet will attract the thumbtack.

He conducted the investigation with three different magnets of different
strengths. They were of the same size and shape. -

He foliowed the following procedure to conduct his investigation.

Steps

Procedure

1

Place the thumbtack against the ruler at the 0 mark.

2

‘Move the first magnet along the ruler from the other end of the

ruler till the thumbtack gels atiracted to if.

Reécord the distance, D, in the table.

Repeat the experiment two more times and calcuilate the average.

Record the average in the table.

Repeat Steps 1 to 5 with the other two magnets.

ENIr=>] [3, JE-N [ XY

strength of the magnet affects D.

Compare the average distance, D, in the table to fmd out how the §

(]

Independent variab}e,_: _

What is the mdependent and dependent variablec for this investlgatlon? _

Dependent variable'- e

| score |
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The table below shows the results of his investigation.

Distance, D (cm
; Magnet 1" Try 2% Try Try Average
A 3 4 3 3.33
B . D ) 5 6 5.33
C 8 9 9 8.66

(b)  Based on the results, what conclusion can you draw? 1]

End of paper
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4 4 3 1 2 3 1 4 3 1 3 1 1 2

31)a)As the mten5|ty of light increase, the rate of photosynthesis increases.
But from point A onwards, as the intensity of light increases the rate of
photosynthes:s remains the same.

b)Water, fertilizers or air, nutrrents, oxygen or carbon dioxide.

32)Slope X is steeper as he had greater kinetic energy when going down slope
X so he took a shorter time to reach the end of the slope.
€
33)a)In an experiment, there should only be one independent variable. In this
experiment, it should be the type of spring. Changing the mass of the weight
hung on it will affect the resuits of the experiment.
b)Change the 509 welght in set-up Atoa 1009 welght

' 34)a)0cean habitat. .
: b)It will die. The enwronment conditions will be suitable for the organism.
Organism that Ilve in the sea are accustomed to the salinity and temperature
C of thesea. ~
s c)The sea water is’ saltler than the pond water The temperature of the sea
) water is Iower than the pond water.
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35)a)Y2>Z>W->X

b)Indirectly. Organism X is a carnivore and feeds on animais and do not
make its own food as it not a plant.

c)During the energy transfer of animals, most of the energy that the
organism get is lost, therefore if a food chain has more than 4 or 5 animal the
last organism may not survive ad it gets very little energy.

36)a)Z Y X

b)When the hammer is raised to a height above the pile, the hammer
possessed greater gravitational potential energy. As the hammer drops
towards the pile the gravitational potential energy will be converted to greater
amount of kinetic energy and thus there will be more energy to drive the pile
deeper into the earth so less time will be needed.

37)a)Repeat the experiment at least three times and take the average.
b)Flower B.
c)Flower B has a lesser exposed surface area in contact with the air just like
the net, therefore, reducing the air resistance acting on it, and hence taking a
faster tlme for it to reach the ground

38)a)40ml

b)The pebbles has air spaces in between them, allowing the water to enter
and take up the space, therefore the water level would not reach 50ml.

c)The water level will be higher. There are fewer air spaces in clayey soil so
fess water can flow into occupy the air spaces. So, more of the water will
remain above the soil.

' 39)a)The beg bugs prefer to live in dark and high level of carbon dioxide
surroundings.

.. b)A fan will help to disperse the carbon dioxide that he breathed out as he
 sleeps so it will reduce the chances that the beg bug is attracted.

- ,40)a)Pomt Y : :

' ‘b)From- pomt Y, there is. a decrease in the populataon of grasshopper. The
o grasshoppers habitat is being destroyed by the development and the
:grasshoppers had either moved away of died.

41)a)B D
R b)AmmaI Fis E's predator. _When the populatlon of E decreases there will be
o less food forF and so some off to decrease F is at the end to the food web so

o -‘-y.the' number of F should be the Ieast :
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42)a)As the distance between Miss Jamie and the lamp post decreases the
length of her shadow decrease so the length of her shadow decreases until she
is below the lamp. As the distance increases again the length of her shadow

increases, 4
b)
- Y-axis:
Length of
the
shadow
(cm)
0 >
A D G
X-axis:
Point where
Miss Jamie
is at
43)a)Q P

b)To find out how the presence of a heater will affect the time taken for the
ice to melt completely.

c)Set-up Q. The water has reached bmlmg point and some of the water had
turned into steam.
‘ 44)a)The different magnets W|th dlfferent strength

Distance D. :
~ b)Magnet C is the strongest magnet followed by Magnet B and Magnet Alis
- -the weakest magnet.
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